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1. FFHE I B + REFEAT
2. IEHF AN IEERRI7E
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5. FHALB SH3E8H18H
6. FE(MitE 53,537,000 F(#HiAH) 48,670,000 H(Fik=E)
7. EAAL AT LA 47,693,811 F@HiAH) 43,358,010 H(FiR=E)
8. RARHIMTEHE 40,887,710 H(FiRE)
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1,000,000
LB (k) 100.00 10.25 11025 | 45,000,000 2.45000
(%) W EFHE 100.00 1275 112.75 | 47,700,000 2.36373
IR (%) 100.00 14.50 11450 | 48,200,000 2.37552
(kk) JRER TFEIE 100.00 13.50 11350 | 43,360,000 2.61762 AL
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L= B (%) 100.00 — — 2.00 1.00 7.25 10.25
(k%) 2 Er 100.00 — — 3.00 1.00 8.75 12.75
IR () 100.00 — — 4.00 1.00 9.50 14.50
(R JEBN TS 100.00 — — 4.00 0.00 9.50 13.50




